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HucnoBble 1
arirebpanyeckme
Bbipa)KeHus,
nnu NpmnBbLIYKK, KOTOPbIE







OueHku:
«5» — 10 NpaBUSIbHbIX

oTBEeTOB

«4» —9, 8, 7 NPaBUNbHbIX
oTBEeTOB

«3»—6,5 NpPaBUIibHbIX
oTBEeTOB

«2» — MEHbLle 5
NpPaBUIibHbIX OTBETOB
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1. Bbiyncnute Hanbonee PaLUNOHAJIbHbIM

CNoCcoOOM:
20

A) 6,83+7,81+3,17+8,19
ButamMuHbI

B) 6,89+5,37+3,11+4,63
2. PackponTe ckobky .
b) 6(2x—1)

=




3. Ynpoctute BblpameH% /(!
A) 15x+8y—x—-7y

B)3a-7c-6a+8c C-3a
!" f

4. Hangute 3HaYeHue BbipaXXeHus:

A)3m—1npum=0 *
b)2,5x-3npnx=0
b
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'MNonBeaeHUe UTOroB ypoka:

ButamMmuHbl

MaTtemaTuka

m bone3sH
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'MNonBeaeHUe UTOroB ypoka:

\iapmomnl

’ .
ButamMmuHbl %%
MaTemaTuka
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byabTe 340pPOBLI,
bnaropasymMHbI 1
yCcnewHbl!

[10 HOBBIX BCTpey!




